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All Candidates' performance across questions

Facility Factor %

Question Title N Mean SD Max Mark FF Attempt %
1 574 16.5 4.5 32 51.6 100
3 574 12.6 5.4 34 37 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.

Line


Study Figure 1 of the Resource Material which shows extracts of a report about tourism on
Easter Island.

Sustainable tourism can be defined as tourism attempting to make as low an impact as possible
on the environment and local culture, while helping to generate future employment for local
people.

(c) Discuss how a range of sustainable tourism practices might reduce the negative impacts
of tourism development on Easter Island. Give examples to support your answer.  [10]

© WJEC CBAC Ltd. (1685-01)
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Sticky Note
The candidate has provided sufficient examples for Level 2. To achieve upper Level 2/3 the answer would need to include more examples and clearer development.
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Sticky Note
The candidate has provided sufficient examples of sustainable tourism practices for upper Level 2 / lower Level 3.
The candidate clearly understands the principles of sustainable tourism but could have provided 1 or 2 more examples to ensure Level 3 marks.
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Many MEDW tourism destinations, such as the UK, host a range of major events which attract
large numbers of leisure and business tourists for a short period of time.

(b) (i) Outline the different types of major events hosted within the UK. Give named
examples to support your answer. [8]

(i) Discuss the possible negative economic and social impacts that MEDW tourism
destinations might experience as a result of hosting a major event. [8]

© WJEC CBAC Ltd. (1685-01)
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Sticky Note
The candidate has only named 2 events which restricts the marks to Level 1.

Sticky Note
The candidate has provided a detailed answer with sufficient negative economic and social impacts to reach upper Level 2. another example would have gained th candidate a Level 3.
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3. In order for Riga to be successful as a European Capital of Culture it is important that different
sectors of the travel and tourism industry work together.

(c) Explain how the different sectors of the travel and tourism industry might work together in
order to ensure the success of the events planned for Riga in 2014. [8]

© WJEC CBAC Ltd. (1685-01)
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Question

Answer

Mark
allocation

Assessment
objective

1(c)

Possible answers:

- Reduce the number of visitors

- Restrict cruise ship visits

- Introduce environmental friendly fuel for the
buses. E.g. vegetable oil

- Employ local people - litter collectors, guides

- Promote local enterprises

- Restrict development by national /
international chains

- Recycling / Waste management projects

- Solar panels

- Wind turbines

- Visitor centre plus leaflets highlighting local
businesses and an 'Easter Island Code of
Conduct'.

Levels marked

Level 1 - discussions are likely to be basic and
include only 2 or 3 appropriate sustainable tourism
practices. Little knowledge or understanding.
Generic / list type answers.

Level 2 - discussions are likely to be more detailed
and include at least 3 or 4 appropriate sustainable
tourism practices. Some knowledge and
understanding.

Level 3 - discussions are likely to be well
developed and include at least 4 or 5 appropriate
examples of sustainable tourism practices. Clear
knowledge and understanding.

0-10

AOl1-4
AO3 -6

Total 32
marks
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Question

Answer

Mark
allocation

Assessment
objective

2 (b)(i)

Possible answers:
Music - Glastonbury, Glyndebourne, London
Proms, Brecon Jazz Festival.

Sports - The Ashes, Wimbledon, Ryder Cup.

Conferences / Exhibitions - boat shows, fashions
shows, Labour Party Conference, Ideal Home
Exhibition.

Others:

Hay on Wye Festival of Literature and Art
Reading Real Ale and Jazz Festival
Stratford-Upon-Avon Poetry Festival
Notting Hill Carnival.

Levels marked

Level 1 - outlines are likely to be basic and include
only 1 or 2 different types of named major events
with 2 or 3 examples only. Little knowledge or
understanding. Generic / list type answers.

Level 2 - outlines are likely to be more detailed and
include at least 2 or 3 different types of named
events with 3 to 4 examples. Some knowledge and
understanding.

Level 3 - outlines are likely to be well developed
and include at least 3 or 4 different types of named
events with 4 to 5 examples. Clear knowledge ad
understanding.

0-8

A0l -8
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Question Answer Mark Assessment
allocation objective
(ii) | Possible answers: 0-8 A0l -3
AO03 -5
Negative economic:
- Increase in temporary low paid jobs only
- Price rises - hotels, bars
- Other visitors might not visit the destination
- Some of the money will be leaked
- Local businesses might not profit
- Other attraction might suffer from lower
attendance.
Negative social:
- Overcrowding
- Temporary impact on the general quality of
life
- Traffic related problems
- Anti-social behaviour
- Possible conflict between tourist and/or locals
- Temporary displacement in local facilities.
Level marked
Level 1 - discussions are likely to be basic and 1-3
include only 1 to 3 impacts. Little knowledge or
understanding. Generic / list type answers.
Level 2 - discussions are likely to be more detailed 4-6
and include at least 3 or 4 negative economic /
social impact. Some knowledge and understanding.
Level 3 - discussions are likely to be well developed 7-8

and include at least 4 or 5 negative economic /
social impacts. Clear knowledge and
understanding.
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Question

Answer

Mark
allocation

Assessment
objective

(c)

Possible answers:

- Travel agents working with tour operators to
promote a city break

- Tourist information centres working with
accommaodation providers / attractions

- Hotels working with taxi firms

- Airlines working with accommodation
providers to create a city break package

- Government websites (visitriga / visitbritain)
promoting private sector organisations

- Voluntary sector organisations helping with
the conservation / preservation of a building
or area of land.

Levels marked

Level 1 - explanations are likely to be basic and
include only 1 or 2 examples. Little or no link to
Riga. Little knowledge or understanding. List type

answers.

Level 2 - explanations are likely to be more detailed
and include at least 2 or 3 examples. Some link to
Riga. Some knowledge and understanding.

Level 3 - explanations are likely to be well
developed and include at least 3 or 4 examples.
Clear links to Riga. Clear knowledge and
understanding.

0-8

AO1-3
AO2 -5

Total 34
marks

Grand Total = 100 marks
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